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10. Oscillating Motion

10.1. General Properties

Every system which can perform an oscillating motion, has two general properties:
• 1. It has an equilibrium position.

• 2. When the system leaves this position, restoring forces seek to drive the system back 
to equilibrium.

10.2. Harmonic Oscillator

A special case of an oscillating movement is defined as harmonic if the restoring forces are 
proportional to the distance from the equilibrium position.

According to Hook’s law the following proportion exists between the elongation of a 
spring s and the resulting force:

F=D s (D = spring constant)

This linear relation is in fact the condition stated above for the existence of an harmonic 
oscillation. A spring is therefore capable of driving an harmonic oscillation.

The simulation „10-harmonic-oscillation“ demonstrates such an oscillation, driven by a 
spring. An important parameter for an oscillation is the time period for one cycle, indicat-
ed as T. 

When changing D and m, preferably in a systemat-
ic manner, the dependence of T on m and D 
(spring constant) can be derived and should, when 
ever possible, be checked by corresponding real 
experiments.

For further explanations see next chapter. 

The mass of the oscillating object can be change in 
the „Particle Inspector“ window. 

The spring constant D can be changed for a select-
ed spring in the "Spring Editor" window.

 Fig 10.1.:  Simulation "10-harmonic-oscillation"
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 A spring can be set between two particles by 

1. keeping the shift-key down and 

2. by selecting one particle with the left mouse button 
down and release the button on top of the other particle. 

 Fig 10.2.:  Spring Editor window

If this procedure is repeated over an existing spring the "Spring Editor" window opens, 
where spring parameters can be set. 

10.3. Harmonic Oscillator and Uniform Circular Motion

The simulation "10-ho-circular-motion" demonstrates that a clear similarity exists between 
the movement of an harmonic oscillator and a uniform circular movement.

The movement of an harmonic oscillator can be defined as a linear projection of a uniform 
circular movement.
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 Fig 10.3.:  Harmonic oscillation and uniform circular motion

For a uniform circular movement we have:

Period T = 2  R / v     |v| = constant velocity (speed) of the circling object

As centripetal force we have:

Fc = m v2 / R

Since both objects have the same vertical position at any time, the forces, driving in verti-
cal direction, must be equal at any time. Therefore we have for the highest or lowest posi-
tion:

Fc = Fmax = D A

With R = A we get by substitution and re-arrangement
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This proves in accordance with the simulation "10-harmonic-oscillation" the relation: 

T m D .

This relation also proves that the time T needed for one cycle is independent of the ampli-
tude and therefore also independent of the velocity with which an object starts from the 
equilibrium position.

10.4. Harmonic Oscillator - Amplitude and Period

As stated above, the time T needed for an oscilla-
tion is independent of the velocity with which an 
object starts from the equilibrium position.

Although this is exactly true only for harmonic 
oscillators, we can use this principle to approxi-
mate the motion of other vibrating objects.

If a wine glass is struck, for example, it starts os-
cillating and transfers this motion to the sur-
rounding air. We hear these vibrations as a sound 
with a higher or lower pitch, depending on how 
fast the glass is vibrating.

 Fig 10.4.:  Simulation "10-oscillation-amplitude"

The pitch, which is related to the duration of one oscillation, is the same, regardless of the 
force, with which the glass was struck. A specific glass (with the same content) will al-
ways produce a tone of the same pitch.

In general: The time period for one oscillation T or its frequency f (number of oscillations 
per time unit) does not depend on the amplitude.

This time period T is a property of the system, determined by the mass m of the oscillat-
ing object and the constant D of the restoring forces.

The simulation "10-oscillation-amplitude" demonstrates this statement. 

10.5. Movement of a Pendulum

The movement of a pendulum is interesting under several different aspects.
• For a long time this movement was used to divide the continuous flow of time into 

equal intervals and thus to run clocks.

• The restoring forces, driving the pendulum back and forth, come close to the condition, 
which is set up for harmonic oscillations.



4

• Since a pendulum moves along a circle, centripetal forces are involved.

• A pendulum is driven by gravity, and therefore certain analogies to the motion of a free-
ly falling body can be found.

All these aspects make the pendulum to an interesting object for studying these laws and 
phenomena in an integrated manner.

10.6. Mass of the Bob m and the Period for one Oscillation T

The two simulations "10-mass-Coulomb" and "10-mass-gravitation" are both simulating a 
movement of a pendulum. They differ in the kind of the acting force. In the first simulati-
on the force is produced by an electrostatic field, oriented downwards (in -z-direction) ac-
ting on a charged bob. In the second simulation a gravitational field is acting on a neutral 
bob. Interesting and instructive is the difference which shows up, if the mass of the bob is 
changed. In the first simulation the mass has a strong influence on the period of the pendu-
lum, in the second simulation the period is independent of the mass. 

Remark:

The tiny trembling motion, which appears with larg-
er changes of the mass are due to the fact, that with 
such changes the elastic suspention is no longer in 
equilibrium between the gravitational force down-
wards and the centripetal force upwards.

 Fig 10.5.:  Simulation "10-mass-Coulomb"
or "10-mass-gravitation"

The explication, why the period of a pendulum is independent of the mass of the bob is 
given by the influence of the gravitational mass. In case of a gravitational pendulum the 
gravitational mass compensates the influence of the inertial mass. In a pure electrostatic 
pendulum, however, the gravitational mass is missing and the allways existing inertial mass 
shows its influence. 

The fact that the period of a pendulum is independent of the mass of its bob can easily be 
checked with rather simple experimental means. 
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10.7. Pendulum as „Harmonic Oscillator“

The simulation "10-pendulum harmonic-oscillator"

allows to compare the movement of a pendulum 
and an harmonic oscillator.

In the starting position the setup is done in such a 
way that both movements are very similar.

A pendulum therefore behaves nearly like an har-
monic oscillator.

 Fig 10.6.:  Simulation "10-pendulum-ho"

However, there is an interesting difference in respect to the influence of the mass of the 
swinging bodies.

If the mass of the swinging objects is changed, an important difference in behaviour shows 
up. Small changes of 20% or 40% are sufficient to see the difference. 

Result: While the period T of the harmonic oscillator depends on the mass of the swinging 
objects, the period for the pendulum does not. Why?

The explanation can be found in the different type of force which drives the oscillating 
movement.

For the harmonic oscillator the elastic force of the spring remains the same when the iner-
tial mass is changed.

For a pendulum the driving force is the gravitational attraction of the earth. This force is 
increased proportional to the inertial mass of the bob, because inertial and gravitational 
mass are strictly proportional. An enlarged inertial mass and an enlarged force neutralize 
themselves mutually and this is the reason why the period of the pendulum is independent 
of the mass of the bob.

10.8. Pendulum Period T and Length of Suspension

It was an important fact for building pendulum clocks, that the accuracy of the clock did 
not depend on the mass of the bob. Therefore the form and mass of this bob could have 
any seize and was free to be designed at will.

How could the accuracy of such a clock be changed, if it proceeded or followed?

The answer: By changing the length of the suspension.
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 The prepared simulation "10-pendulum-length" 
shows three pendula which differ in length of the 
suspensions by 5% and 10% respectively.

Clearly the periods are different. This effect can 
quite easily be checked by a real experiment.

The relation between the time for a full swing, the 
period T, and the length of the suspension l can be 

derived from theoretical considerations as:T l

The simulation "10-pendulum-different-length" 
demonstrates this kind of relation.

 Fig 10.7.:  Simulation "10-pendulum-length"

The ratio of the length of the 2 suspensions is
l1 / l2 = 4.

The ratio of the periods is T1 T2 4 2= = .

 Fig 10.8.:  
Simulation "10-pendulum-different_length"


